Chapter 7 Review #1 Prob/Stats Name Kéxl\/

The statement represents a claim. Write its complement and state which is Hy ana(thch is H,. Identify
which one is the claim.

Write the null and alternative hypotheses for each statement. Identify which one is the claim. State
whether you do a left-tailed, right-tailed, or two-tailed test for the hypothesis test.

6. The mean age of bus drlvers in Sacramento is 47.2 years.

Using the statement in problem #6, ¢
the hypothesis test of this claim.

9.  The mean age of bus drivers in Sacramento is 47.2 years. I fa{ hypothesw test is performed; how
should you interpret a decision that rejects the null hypothes1s‘7
There is not sufficient evidence to reject the claim p=47.2.

There is sufficient evidence to reject the claim y=47.2.
There is sufficient evidence to support the claim x=47.2.
There is not sufficient evidence to support the claim x=47.2.

10. Given H,: p>20.2, for which confidence interval should you reject H,?

a)  (185,20.5)

| o
(17.6, 19.6) 9
& (19.8,20.8)



11.

The P-value for a hypothesis test is P = 0.045. Do you reject or fail to reject Ho when the level of
significance is @ =0.01? What if the level of s1gn1ﬁcance 1s a=0.05?
K =.0 o by ,
Find the P-value for the hypothesis test with the standardized test statistic z. Decide whether to reject
Hy for the level of significance « .
12.  Right-tailed test, z=0.91,  =0.05 13.
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Left- talled test, z=-1.75, a =0.05
14. Two-tailed test, z=2.43, o =0.01
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15. Two—talled test, ¢ =0.04
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Fi lnd the crztzcal value?cind rejectlon regzon for the lype of z-test with level of significance « .
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16 Right-tailed test, & =0.10
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If a =0.05, test the coffee shack’s claim. Use a P-value.
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17. A coffee shack claims that the mean waiting time in line is less than 2.9 minutes. A random
sample of 60 customers has a mean of 2.8 minutes with a population standard deviation of 0 4
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A manufacturer claims that the mean lifetime of its fluorescent bulbs is 1000 hours ‘A homeowner

selects 40 bulbs and finds the mean lifetime to be 990 hours with a population standard dev1at10n
of 80 hours. Test the manufacturer’s claim. Use « = 0.05 and rejection regions.
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